
9A 9B

1) X2 + 6X + 9 1) A2 - 8A + 16

2) A2 - 6A + 9 2) X2 - 2XY + y2

3) 9X2 + 24X + 16 3) 4X2 + 20X + 25

4) 4X2 + 4X + 1 4) 9X2 - 12X + 4

5) (X + 4)2
5) (B + 10)2

6) (X - 9)2
6) (X- 1)2

7) (A + 8)2
7) (X- 2)2

8) (A- 8)2
8) (R + 12)2

9) X3 + 3X2(5) + 3X(5)2 + 53 =

X3 + 15X2 + 75X + 125 9) X3 - 3X2(10) + 3X(10)2 - (10)3 =

X3 - 30X2 + 300X - 1000
10) (3X)3 - 3(3X)2(2) + 3(3X)(2)2 - (2)3=

27X3 - 54X2 + 36X - 8 10) (2X)3 + 3(2X)2(1) + 3(2X)(1)2 + (1)3 =

11) (2A)3 + 3(2A)2(2B) + 3(2A)(2B)2 + (2B)3 =
8X3 + 12X2 + 6X + 1

8A3 + 24A2B + 24AB2 + 8B3 11) A3 + 3A2B + 3AB2 + B3

12) X3 - 3X2(1) + 3X(1)2 - (1)3 = 12) X3 - 3X2(5) + 3X(5)2 - (5)3 =

X3 - 3X2 + 3X - 1 X3 - 15X2 + 75X - 125

13) vs - 3y2(1/4) + 3Y(1/4)2 - (1/4)3 = 13) p3 - 3P2(1/3) + 3P(1/3)2 - (1/3)3 =

y3 _3/4 y2 + 3/16 Y - 1/64 p3 _p2 + 1/3 P - 1/27

14) (2R)3 + 3(2R)23 + 3(2R)32 + 33 = 14) (4F)3 + 3(4F)22 + 3(4F)(2)2 + 23 =

8R3 + 36R2 + 54R + 27 64F3 + 96F2 + 48F + 8

15) 5 10 10 5

9C

1) X2 + 10X + 25

2) 4X2 - 12X + 9

3) (2X + 5)2

4) (X -7)2

5) X3 + 3X2(4) + 3X(4)2 + 43

X3 + 12X2 + 48X + 64

6) X3 - 3X24 + 3X42 - 43

X3 - 12X2 + 48X - 64

7) (2X)3 + 3(2X)2(1) + 3(2X)12 + 13

8X3+12X2+6X+1

8) (3X)3 - 3(3X)2(2) + 3(3X)(2)2 - (2)3
27X3 - 54X2 + 36X - 8

9) 13 - 2i..J5

10) (3X -..J5)(3X +..J5)

11) 4$(2$-1) 8.,f48-4$

(2$ + 1)(2$-1) 4 8-1

8..[16..J3- 4../6 32..J3- 4../6
31 31

12) 7 (4+3i) = 28+21i
(4 - 3i )(4 + 3i) 16 - 9i2

~
25

13) (8i)(2i..J2)=

16i2..J2= -16..j2

14) i6 = (i2)(i2)(i2)= -1

15) (1000)112 = ..,/1000 =

..J1Oo..J1O= 10..J1O

16) (X2)4 = X8

17) 2X2 + 2X - 12 = 0
2(X2 + X - 6) = 0
2(X + 3)(X - 2) = 0
X=-3,2

2(-3)2 + 2(-3) - 12 = 0
18-6-12=0 ../

2(2)2 + 2(2) - 12 = 0
8+4-12=0 ../

15)

18) (X - 4)Qk'1)
(X+3)~)

X~ _ X2-4X
-6Qk'1) - -6X - 18

15 20 15 6

19) 5,jf-6N=

5$..J3 _ 6..jf8..rr
..J3..J3 ..ff..ff

5..,/413 _ 6..,/9·14 =
3 7

10..J6 (7) _ 18..J14(3) = 70..J6 - 54..J14
3 (7) 7 (3) 21

20) 2X2 _ X 2~X 3- -2-' ~2 2
=2?i.. +.E... -8K ..-8"""

3 3 ~' ~
3(2X-1) _ ~3

10 - 10

(J)
Q.
S.
o·
::J
(JJ

CO»cb
o

6

2 7 21 35 35 21 7

3 3 8 28 56 70 56 28 8---- ---- ---- ----
4 6 4

5 10 10 5



9D

1) X2 + 14X + 49

2) 9X2 - 24X + 16

3) (X-3)2

4) (2X + 4)2

5) X3 + 3X2(2) + 3X(2)2 + 23

X3 + 6X2 + 12X + 8

6) X3 - 3(X2)(1/5) + 3(X)(1/5)2 - (1/5)3
X3 - 3/5 X2 + 3/25 X - 1/125

7) (3X)3 + 3(3X)2(2) + 3(3X)22 + 23

27X3 + 54X2 + 36X + 8

8) (2X)3 - 3(2X)2(3) + 3(2X)(3)2 - 33

8X3 - 36X2 + 54X - 27

9) 5+..J-4 or 5+2i

10) (.,fix -.,Jf5)(.,fix +.,Jf5)

11) 10.,Jf5(3..,/5-8)
3..,/5 + 8)(3..,/5 - 8)

30..,/25 ..J3 - 80.,Jf5
-19

30,ff5 - 80.,Jf5
9(5) - 64

150..J3 - 80.,Jf5
-19

5 (2 - 6i) 10 - 30i 10 - 30i 1 - 3i
12) (2 + 6i)(2 - 6i) = ~ = --:w- = -4-

13) (7i)(3-Ff..J4.,J2) = (7i)(3i 2..J2)=

422.,fi = -42-./2

14) -i

15) (_1_r3=23=8
2

16) (X1/2r3 = X-3/2

17) [2X2 = 5/2X + 3]2
4X2 - 5X - 6 =0
(4X + 3)(X - 2) = 0
X = -3/4, 2

4(-3/4)2 - 5(-3/4) - 6 = 0
9/4 + 15/4 - 24/4 = 0../

4(2)2 - 5(2) - 6 = 0
16-10-6=0"/

18) 6 (X - 7)

~)
~)~) 6X-42 2X-14

-9~ = --9- = -----=s

9E

1) X2 + 16X + 64

2) 16X2 + 8X + 1

3) (X+4)2

4) (3X + 2)2

5) X3 + 3X2(6) + 3X(6)2 + 63

X3 + 18X2 + 108X + 216

6) (2X)3 + 3(2X)25 + 3(2X)52 + 53
8X3 + 60X2 + 150X + 125

7) X3 + 3X2(4) + 3X(4)2 + 43

X3 + 12X2 + 48X + 64

19) 2ft- - x..J20 = I 8) X3 - 3X2(2/3) + 3X(2/3)2 - (2/3)3

/0 F fAX3 - 2X2 + 4/3 X - 8/27
2'V0v5 Xv+.J5-;rs:J5- -1-=

2..ff5 2X.J5(5) I 9) 6 - 3..[-9 or 6 - 3(3i) = 6 - 9i

-5--~=

2..ff5-10X.J5 I 10) (lOX -.J83 )(10X +.J83)

5

20) (5)2 _3X+4 10-3X-4 11) 5..ff(2..ff+3) = 10(7)+15..ff
(5) 5 5 (2..ff- 3)(2..ff + 3) 4(7) - 9

(3)3X 2 + X = 9X + 2 + X =-(3) + -3- 70 + 15..ff
3 19

6 - 3X 3
-5- '105(+2 18 - 9X
~....a"" = 50X+ 10 112) 4(10+7i). = 40+28i = 40 + 28i
A'" '~ (10-71)(10+71) 100-49i2 ~

13) (-10)(..pf.J25$)

(-1 0)(5i.J3"j=-50i.,j3

14) 8i3=8,i2,i=-8i

5 1 __ 1_
15) (3)- = 3s - 243

2 1 _-.!
16) (X

3r = (X3)2 - X6

17) X(5X - 3) = 0
X = 0, 3/5

5(0)2 - 3(0) = 0
0=0 ../

5(3/5)2 - 3(3/5) = 0
9/5 - 9/5 = 0 ../

18) 25 - X2 = _(X2- 25)

X(~) 10~) lOX
-()k:'5)~) (X + 5) = -X - 5

19) 3i -7$-
3.,fi ..ff
..ff..ff

7..J3 ..JX
..JX..JX =

3 .vIT (X) 7 ..J3X(7)
7 (X) ----x-(7)

3X.vIT - 49..J3X
7X

(2)1 4 - 5X
20) - +--

(2) 2

X+3
4

12 - lOX
X+3

2
6-5X K
~'X+3
~ ..A-'"
..A-""~ (f)

Q.
S-
o·
:::J
U>
too

'"m


